



B.Com. DEGREE EXAMINATION – 
JANUARY 2012.

Third Year

Accounting and Finance

ACCOUNTING FOR MANAGERIAL DECISION

Time : 3 hours
Maximum  marks : 75

SECTION A — (3 × 5 = 15 marks)

Answer any THREE questions.

1. What do you mean by management accounting? Explain.

÷©»õsø© PnUQ¯À SÔzx }Âº AÔÁx ¯õx? ÂÍUSP.

2. Explain the limitations of financial statement analysis.

{v{ø» AÔUøP £S¨£õ´Âß Áøµ¯øÓPøÍ ÂÍUSP.

3. Distinguish funds flow statement from cash flow statement.

{v |h©õmh AÔUøPø¯ öµõUP |h©õmh AÔUøP°¼¸¢x ÷ÁÖ£kzxP.

4. From the following particulars calculate stock turnover ratio.

(a)
Opening stock Rs. 40,000

(b)
Closing stock Rs. 44,000

(c)
Sales Rs. 4,15,000

(d)
Gross profit ratio 20%.

¤ßÁ¸® uPÁÀPÎ¼¸¢x \µUQ¸¨¦ _ÇØ] ÂQuzvøÚ PõsP.

(A)
öuõhUP \µUQ¸¨¦ ¹. 40,000

(B)
CÖv \µUQ¸¨¦ ¹. 44,000

(C)
ÂØ£øÚ ¹. 4,15,000

(D)
ö©õzu »õ£ ÂQu® 20%.

5. Calculate funds from operation from the following profit and loss a/c.

Profit and Loss acccount

	Dr.
	
	
	Cr.

	
	Rs.
	
	Rs.

	To Rent
	10,000
	By Gross profit
	9,86,000

	To Salary
	25,000
	
	

	To Depreciation
	3,000
	
	

	To Discount on shares
	10,000
	
	

	To Goodwill
	5,000
	
	

	To Preliminary exp.
	6,000
	
	

	To Net Profit
	9,27,000
	
	

	
	9,86,000
	
	9,86,000


¤ßÁ¸® C»õ£ |mh PnUQ¼¸¢x ö\¯À£õmk {vø¯ PnUQkP.
C»õ£ |mhU P/S

	£ØÖ
	
	
	ÁµÄ

	
	¹.
	
	¹.

	ÁõhøP
	10,000
	ö©õzu »õ£®
	9,86,000

	\®£Í®
	25,000
	
	

	÷u´©õÚ®
	3,000
	
	

	£[SPÎß «x uÒÐ£i
	10,000
	
	

	|Øö£¯º
	5,000
	
	

	÷uõØÖÂ¨¦ ö\»Ä
	6,000
	
	

	{Pµ »õ£®
	9,27,000
	
	

	
	9,86,000
	
	9,86,000


SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

6. What are the uses and limitations of Management Accounting?

÷©»õsø© PnUQ°¯¼ß £¯ß ©ØÖ® Áµ®¦PÒ ¯õøÁ?

7. From the following balance sheet calculate solvency ratios.

Balance sheet

	Liabilities
	Rs.
	Assets
	Rs.

	Equity share capital
	1,00,000
	Land
	75,000

	Reserves
	50,000
	Plant
	80,000

	Profit and loss a/c
	20,000
	Stock
	30,000

	10% debentures
	50,000
	Debtors
	50,000

	Creditors
	30,000
	Bills receivable
	20,000

	Bills payable
	15,000
	Cash in hand
	10,000

	
	2,65,000
	
	2,65,000


¤ßÁ¸® C¸¨¦{ø»U SÔ¨¤¼¸¢x }izu ußø© ÂQu[PøÍ PnUQkP.
C¸¨¦{ø»U SÔ¨¦

	ö£õÖ¨¦UPÒ
	¹.
	ö\õzxUPÒ
	¹.

	÷|ºø© £[S •uÀ
	1,00,000
	{»®
	75,000

	Põ¨¦UPÒ
	50,000
	C¯¢vµ®
	80,000

	C»õ£ |mhU P/S
	20,000
	\µUQ¸¨¦
	30,000

	10% PhÜmk £zvµ®
	50,000
	PhÚõÎPÒ
	50,000

	PhÜ¢÷uõº
	30,000
	ö£ÖuØS›¯
	

	ö\¾zxuØS›¯
	
	  ©õØÖa^mk
	20,000

	©õØÖa^mk
	15,000
	øPöµõUP®
	10,000

	
	2,65,000
	
	2,65,000


8. Balu and company presents the following balance sheets for the 2008 and 2009. Prepare sources and application of funds statement.

Balance sheet

	Liabilities
	2008
	
	2009
	Assets
	2008
	
	2009

	
	Rs.
	
	    Rs.
	
	Rs.
	
	   Rs.

	Share capital
	12,00,000
	
	12,00,000
	Cash
	1,06,000
	
	62,000

	Reserves
	13,84,000
	
	17,28,000
	Investments
	1,74,000
	
	–

	Loans
	2,00,000
	
	4,70,000
	Debtors
	6,92,000
	
	10,56,000

	Creditors
	8,26,000
	
	12,54,000
	Stock
	8,64,000
	
	13,66,000

	Bills payable
	4,52,000
	
	6,28,000
	Net fixed assets
	22,26,000
	
	27,96,000

	
	40,62,000
	
	52,80,000
	
	40,62,000
	
	52,80,000


Depreciation of Rs. 3,78,000 is written off in the year 2009.

£õ¾ Ask P®£Û 2008 ©ØÖ® 2009 BsiØPõÚ C¸¨¦{ø»U SÔ¨¦PøÍ u¸QÓx. ‰»[PÒ ©ØÖ® £¯ß£õk AÔUøP°øÚ u¯õ›UP.

C¸¨¦{ø»U SÔ¨¦

	ö£õÖ¨¦UPÒ
	2008
	
	2009
	ö\õzxUPÒ
	2008
	
	2009

	
	¹.
	
	¹.
	
	¹.
	
	¹.

	£[S •uÀ
	12,00,000
	
	12,00,000
	öµõUP®
	1,06,000
	
	62,000

	Põ¨¦
	13,84,000
	
	17,28,000
	•u½kPÒ
	1,74,000
	
	–

	Phß
	2,00,000
	
	4,70,000
	PhÚõÎPÒ
	6,92,000
	
	10,56,000

	PhÜ¢÷uõº
	8,26,000
	
	12,54,000
	\µUQ¸¨¦
	8,64,000
	
	13,66,000

	ö\¾zxuØS›¯
	
	
	
	{Pµ {ø» ö\õzx
	22,26,000
	
	27,96,000

	  ©õØÖa^mk
	4,52,000
	
	6,28,000
	
	
	
	

	
	40,62,000
	
	52,80,000
	
	40,62,000
	
	52,80,000


|h¨¦ Bsk {ø»a ö\õzxUPÎß «x ÷u´©õÚ® 
¹. 3,78,000 JxUP¨£mhx.

9. Dhandapani Ltd. furnishes the following balance sheet for the years 2007 and 2008, prepare common size balance sheet.

Balance sheet

	Liabilities
	2007
	
	2008
	Assets
	2007
	
	2008

	
	Rs.
	
	    Rs.
	
	Rs.
	
	   Rs.

	Share capital
	2,00,000
	
	3,00,000
	Building
	4,00,000
	
	4,00,000

	Reserves
	6,00,000
	
	7,00,000
	Machinery
	6,00,000
	
	10,00,000

	10% debentures
	2,00,000
	
	3,00,000
	Stock
	2,00,000
	
	3,00,000

	Creditors
	3,00,000
	
	5,00,000
	Debtors
	2,00,000
	
	2,50,000

	Bills payable
	2,00,000
	
	2,00,000
	Cash at bank
	1,00,000
	
	50,000

	
	15,00,000
	
	20,00,000
	
	15,00,000
	
	20,00,000


ush£õo {Ö©zvß 2007 ©ØÖ® 2008UPõÚ ¤ßÁ¸® C¸¨¦{ø» SÔ¨¦PÎ¼¸¢x ö£õx AÍÄ C¸¨¦{ø» SÔ¨ø£ u¯õ›UP.

C¸¨¦{ø» SÔ¨¦

	ö£õÖ¨¦UPÒ
	2007
	
	2008
	ö\õzxUPÒ
	2007
	
	2008

	
	¹.
	
	¹.
	
	¹.
	
	¹.

	£[S •uÀ
	2,00,000
	
	3,00,000
	Pmih®
	4,00,000
	
	4,00,000

	Põ¨¦UPÒ
	6,00,000
	
	7,00,000
	C¯¢vµ®
	6,00,000
	
	10,00,000

	10% Phß £zvµ®
	2,00,000
	
	3,00,000
	\µUQ¸¨¦
	2,00,000
	
	3,00,000

	PhÜ¢÷uõº
	3,00,000
	
	5,00,000
	PhÚõÎPÒ
	2,00,000
	
	2,50,000

	ö\/©õØÖa ^mk
	2,00,000
	
	2,00,000
	Á[Q öµõUP®
	1,00,000
	
	50,000

	
	15,00,000
	
	20,00,000
	
	15,00,000
	
	20,00,000


10. Prepare cash flow statement from the following balance sheet.

Balance sheet

	Liabilities
	2009
	
	2010
	Assets
	2009
	
	2010

	
	Rs.
	
	    Rs.
	
	Rs.
	
	   Rs.

	Capital
	80,000
	
	71,000
	Land & Building
	70,000
	
	1,00,000

	Bank Overdraft
	60,000
	
	96,000
	Machinery
	35,000
	
	20,000

	Creditors
	42,000
	
	60,000
	Stock
	40,000
	
	58,000

	Outstanding expenses
	8,000
	
	13,000
	Debtors
	30,000
	
	40,000

	
	
	
	
	Cash
	15,000
	
	22,000

	
	1,90,000
	
	2,40,000
	
	1,90,000
	
	2,40,000


During the year 2010, a machine costing Rs.11,000 (accumulated depreciation thereon 
Rs. 3,000) is sold for Rs. 4,000. The accumulated depreciation of machinery was Rs. 8,000 on 31.12.2009 and Rs. 12,000 on 31.12.2010.

¤ßÁ¸® C¸¨¦{ø»U SÔ¨¤¼¸¢x öµõUP |h©õmh AÔUøPø¯ u¯õ›UP.

C¸¨¦{ø»U SÔ¨¦

	ö£õÖ¨¦UPÒ
	2009
	
	2010
	ö\õzxUPÒ
	2009
	
	2010

	
	¹.
	
	¹.
	
	¹.
	
	¹.

	•uÀ
	80,000
	
	71,000
	{»•® Pmih•®
	70,000
	
	1,00,000

	Á[Q ÷©ÀÁøµ¨ £ØÖ
	60,000
	
	96,000
	C¯¢vµ®
	35,000
	
	20,000

	PhÜ¢÷uõº
	42,000
	
	60,000
	\µUQ¸¨¦
	40,000
	
	58,000

	{¾øÁ ö\»ÄPÒ
	8,000
	
	13,000
	PhÚõÎPÒ
	30,000
	
	40,000

	
	
	
	
	öµõUP®
	15,000
	
	22,000

	
	1,90,000
	
	2,40,000
	
	1,90,000
	
	2,40,000


|h¨¦ Bsk 2010À ¹. 11,000 AhUPÂø»²ÒÍ C¯¢vµ® JßÖ (Ti¯ ÷u´©õÚ® ¹. 3,000) 
¹. 4,000US ÂØP¨£mhx. C¯¢vµzvß «uõÚ Ti¯ ÷u´©õÚ® 31.12.2009À ¹. 8,000, 31.12.2010À 
¹. 12,000 BS®.

11. Prepare cash budget from the following data for three months from April to June 2010.

	Months
	Sales 
Rs.
	Purchases 
Rs.
	Wages 
Rs.

	February 2010
	1,80,000
	1,24,800
	12,000

	March 2010
	1,92,000
	1,44,000
	14,000

	April 2010
	1,08,000
	2,43,000
	11,000

	May 2010
	1,74,000
	2,46,000
	10,000

	June 2010
	1,26,000
	2,68,000
	15,000


(a)
50% of the sale is for cash. Credit sale amount is collected in the month of following that of sale.

(b)
Suppliers supply goods on two months credit.

(c)
Delay in payment of wages 15 days.

(d)
Income tax of Rs. 10,000 is due in June 2010.

(e)
Cash at Bank on 1st April Rs. 25,000.

¤ßÁ¸® uPÁÀPÎ¼¸¢x 2010 H¨µÀ •uÀ áüß •i¯ ‰ßÖ ©õu[PÐUPõÚ öµõUPz vmh¨£mi¯À JßÔøÚz u¯õ›UP.

	©õu®
	ÂØ£øÚ 
¹.
	öPõÒ•uÀ 
¹.
	T¼ 
¹.

	¤¨µÁ› 2010
	1,80,000
	1,24,800
	12,000

	©õºa 2010
	1,92,000
	1,44,000
	14,000

	H¨µÀ 2010
	1,08,000
	2,43,000
	11,000

	÷© 2010
	1,74,000
	2,46,000
	10,000

	áüß 2010
	1,26,000
	2,68,000
	15,000


(A)
ÂØ£øÚ°À 50% öµõUP©õS®. Phß ÂØ£øÚUS J¸ ©õu® PÈzx £n® Á`»õQÓx.

(B)
Phß AÎ¨÷£õº 2 ©õu® Põ»® PÈzx £n® ö\¾zxÁõºPÒ.

(C)
T¼ 15 |õmPÒ Põ»uõ©u©õP ö\¾zu¨£kQÓx.

(D)
áüß 2010&À Á¸©õÚ Á› ¹. 10,000 ö\¾zu ÷Ásk®.

(E)
H¨µÀ 1® ÷uv Á[Q öµõUP® ¹. 25,000.

12. Janaki products Ltd. has two projects under consideration, the cost of each of them is 
Rs. 1,00,000. Both the projects have to be depreciated on straight line method basis and tax rate may be taken as 50%.

Determine which project is better on pay back period criterion.

	
	
	1st year
	2nd year
	3rd year
	4th year
	5th year

	Project A 
	Cashflows
	80,000
	60,000
	40,000
	20,000
	10,000

	Project B
	Cashflows
	20,000
	40,000
	60,000
	80,000
	1,00,000


áõÚQ EØ£zv {Ö©® Cµsk vmh[PøÍ uÚx £›^»øÚ GkzxÒÍx, JÆöÁõ¸ vmh•® Bµ®£ •u½k ¹. 1,00,000 öPõshx. C¸ vmh[PÐ÷© ÷|º ÷Põmk •øÓ°À ÷u´©õÚ® JxUP¨£kQÓx, Azxhß Á¸©õÚ Á› ÂQu® 50% GÚU öPõÒÍ»õ®.

v¸®£ ö£Ö® Põ» AÍÄ Gß£vß Ai¨£øh°À G¢u vmh® ]Ó¢ux GÚ wº©õÛUPÄ®.

	
	
	•uÀ Bsk
	Cµshõ® Bsk
	‰ßÓõ® Bsk
	|õßPõ® Bsk
	I¢uõ® Bsk

	vmh® A
	öµõUP Kmh®
	80,000
	60,000
	40,000
	20,000
	10,000

	vmh® B
	öµõUP Kmh®
	20,000
	40,000
	60,000
	80,000
	1,00,000


–––––––––––––––
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